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QUESTION 1

When a tagged packet is received on a SAP configured with dotlg encapsulation, the VLAN tag must match the value
configured on the SAP in order to be forwarded.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 2

Click the exhibit.

RO L I o L B PR SR L O T

echo "BGP Configuration”

S o o i s M e YA o S BT o S e A e
bap

group "multi-bgp"

e R 2

neighbor 10.10.10.2

local-address 10.10.10.1

peer-as 64496

exit
exit

exlit

exit

This PE is connected to an IPv4 core and is being configured to support 6VPE for a VPRN. Which of the following
completes this section of the configuration?

A. Family ipv4
B. Family ipv6
C. Family ipv4 ipv6
D. Family vpn-ipv4

E. Family vpn-ipv4 vpn-ipv6
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Correct Answer: E

QUESTION 3

Click the exhibit.

MTU 9212 MTU 9212

Size Sent Response

1530 . Success
1531 . Success
1552 . Suaccess
1553 = Success
1554 . Success
1555 - Success
1556 - Success
1557 ais'e Request Timeout

Maximum Response Size: 1356

E-pipe 100 is using an SDP with an LSP that uses the path shown (PE1-PE2-PE3-PE4). Based on the OAM command
output, which of the following is FALSE?

A. The E-pipe can support a maximum MTU size of 1578.
B. The ports of the link PE2-PE3 have an MTU of 1578.
C. An svc-ping of the E-pipe will succeed.

D. If the step size was 2, the maximum response size would be the same.
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Correct Answer: A

QUESTION 4
A transport tunnel can either use an MPLS or GRE encapsulation.
A. TRUE B. FALSE

Correct Answer: A

QUESTION 5

FRF.5 is a standard that describes which of the following requirements?
A. ATM to Frame Relay translation.

B. Frame Relay to Ethernet translation.

C. ATM tunneling over a Frame Relay core network.

D. Frame Relay tunneling over an ATM core network.

E. Frame Relay tunneling over an MPLS/IP core network

Correct Answer: D
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